
 

 
egy90−3n

egy90−1a

Adaptation
L&B: 520
ts=0.0

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

log[Empfindlichkeit]
logGo = −0,35[uλ−u520]2

logGa= logGo+0,00
log [La, Ba]
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Sättigung L
Adaptation
L&B: 520
ts=0.0

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

log[Sättigung]
logGo = −0,35[uλ−u520]2

logGa= logGo+0,00
log [La/Ga, Ba/Ga]
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Adaptation
L&B: 520
ts=0.0

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50
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log [Ga, La, Ba]

400 500 600 700

495Ec

400

565Ec

λd/nm λc

−2

−1

  0
La

570

Go

520

Ba

470

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

Lo
Go
Bo

La
Ga
Ba

520:
=−0,35
=0,00
=−0,55

=−0,35
=−0,35
=−0,55

egy90−4a

Sättigung L
Adaptation
L&B: 520
ts=0.0

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

log[Sättigung]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
log [Ga/Ga, La/Ga, Ba/Ga]
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egy90−7n

egy90−5a

Adaptation
L&B: 520
ts=0.0

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

log[Empfindlichkeit]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
log [Ga, Ba]
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Sättigung L
Adaptation
L&B: 520
ts=0.0

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

log[Sättigung]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
log [Ga/Ga, Ba/Ga]
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Adaptation
L&B: 520
ts=0.0

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50
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Sättigung L
Adaptation
L&B: 520
ts=0.0

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

log[Sättigung]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
log [Ga/Ga, La/Ga, ]
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Adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

log[Empfindlichkeit]
logGo = −0,35[uλ−u520]2

logGa= logGo+0,00
log [La, Ba]
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Adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

log[Sättigung]
logGo = −0,35[uλ−u520]2

logGa= logGo+0,00
log [La/Ga, Ba/Ga]
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Adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

log[Empfindlichkeit]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
log [Ga, La, Ba]
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Sättigung L
Adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

log[Sättigung]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
log [Ga/Ga, La/Ga, Ba/Ga]
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egy91−7n

egy91−5a

Adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

log[Empfindlichkeit]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
log [Ga, Ba]
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egy91−6a

Sättigung L
Adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

log[Sättigung]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
log [Ga/Ga, Ba/Ga]
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egy91−7a

Adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

uλ=(λ−550)/50

log[Empfindlichkeit]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
log [Ga, La, ]
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Sättigung L
Adaptation
L&B: 520
ts=0.04

logLo = −0,35[uλ−u570]2

logBo = −0,35[uλ−u470]2

logLa= logLo+0,00
logBa= logBo+0,00

log[Sättigung]
logGo = −0,35[uλ−u520]2

logGa= logGo−0,35
log [Ga/Ga, La/Ga, ]
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TUB-Prüfvorlage egy9; Empfindlichkeit 570,470,520, LBG−>L/G & B/G, lin[Schwellen]=0 & 0,04
log[Empfindlichkeit], log[Verhältnis], LMS-R21=570,470,520, YB-Antigonismus
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Siehe separate Bilder dieser Seite: http://farbe.li.tu-berlin.de/egy9/egy9.htm
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